Test IQ English – 20 minutes time
Câu số 1:  The word, "mineral," can be spelled using only the letters found in the word below: 

a. minefield 

b. neptunium 

c. parliament 

d. militarise 

e. natatorial 

 Câu số 2: 

This sequence of four words, "triangle, glove, clock, bicycle," corresponds to this equence of numbers "3, ?, 12, 2." Choose the correct answer in the following: 

a. 1 

b. 4 

c. 5 

d. 6 

e. 7 

f. 8 

g. 9 

h. 15 

i. 18 

Câu số 3: 27 minutes before 7 o'clock is 33 minutes past 5 o'clock. 

a. True 

b. False 

Câu số 4:  The word, "slackers," is spelled by using the first letters of the words in the following sentence: "Silent large anteaters calmly kiss each roasted snack." 

a. True 

b. False 

Câu số 5:  If written backwards, the number, "one thousand, one hundred twenty-five," would be written: 

a. One thousand, two hundred fifty one. 

b. Fifty two thousand, one hundred and one. 

c. Two thousand, five hundred eleven. 

d. Five thousand, two hundred eleven. 

 Câu số 6:  A round wall clock that has been rotated until it is hanging upside down will have a minute hand that points to your right when it is two forty-five. 

a. True 

b. False 

Câu số 8:  If the word "quane" is understood to mean the same as the word "den" then the following sentence is grammatically correct: "Looking out from my quane, I could see a wolf enter quane." 

a. True 

b. False 

Câu số 9:  What number is the next sequence number after: 5, 65, 765, ... 

a. 6565 

b. 7565 

c. 8765 

d. 9865 

Câu số 10:  10, 30, 32, 96, 98, 294, 296, ?, ? What two numbers should replace the question marks? 

a. 468 - 496 

b. 668 - 696 

c. 777 - 780 

d. 888 - 890 

 Câu số 10b:  0, 1, 2, 4, 6, 9, 12, 16, ? What number should replace the question mark? 

a. 18 

b. 20 

c. 23 

d. 24 

 Câu số 10c:  6, 20, 62, 188, ? 

a. 564 

b. 566 

c. 568 

d. 600 

 Câu số 10d:  100, 98, 94, 86, ? 

a. 70 

b. 77 

c. 86 

d. 94 

Câu số 11: How many minutes is it before 12 noon, if 48 minutes ago it was twice as many minutes past 9 am? 

a. 40 minutes 

b. 44 minutes 

c. 56 minutes 

d. 58 minutes 

Câu số 12:  Identify two words (one from each set of brackets) that have a connection (analogy) with the words in capitals and relate to them in the same way. 

SEA (wet, swimmer, ship) 

SNOW (mountain, ice, skier) 

 
a. wet - mountain 

b. wet - ice 

c. wet - skier 

d. swimmer - mountain 

e. swimmer - ice 

f. swimmer - skier 

g. ship - mountain 

h. ship - ice 

i. ship - skier 

Câu số 13: 

 John weighs 85 pounds. Jeff weighs 105 pounds. Jake weighs 115 pounds. Two of them standing 

together on the same scale could weigh 200 pounds. 

a. True 

